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Binomial Distribution is the probability of a SUCCESS or FAILURE outcome
in an experiment that is repeated multiple times.

Binomial is a type of distribution that has TWO possible outcomes “bi-"
A basketball player’s shot percentage would found to be 70%. In other
words, this player made 70% of the shots taken. Find the probability of

scoring EXACTLY 2 shots out of 6 attempts.
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Find the probability of flipping a coin 10 times and getting EXACTLY 6

heads.
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A fair die is thrown four times. Calculate the probabilities of getting:
a. 0 Twos
4

P(%- 0V (o) (B)°(3) = ur
b. 1 two

plx-1): (1) (&) (&) - 38+
c. 2 twos
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d. 3 twos
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e. 4 twos
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A packet of 10 vegetable seeds has a germination rate of 96%. What is
the probability that:
a. At least 9 seeds will sprout

P(¥=9 u X=10) 7 P(x=9) s P(x:10)
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0.95 + 0.66
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b. At most 8 seed will sprout

- P(X=9 u X=10) = 1-0.41 = 0.09- Q4



